Raniganj coalfield is situated in

(A)  Odisha ® e Bc':lgnl
(©)  Madhya Pradesh (D) Jharkhan
ya Prades

(E)  Question not attempted

T Fiefies # e 1 ;

A) s (B) TS

© Wy @) WIS

® ke . fining plant?
2 Which of the following statement is not correct about the Khetri Copper retin g

(A)  Ttis situated in Bikaner district of Rajasthan.

(B)  Italso has a Sulphuric acid plant and a fertiliser plant.

(C)  Itis an integrated Copper mining-cum-ore refining plant.

(D) It obtains copper ore from the Malanzkhand copper mines. .

(E)  Question not attempted

Freaforfers et 3 & 2 o s Qe amw v i 3wt o W A &2

(A) —T% TSR % st et 7 Rera 21

(B) 6T U MU ot W 3fi 3dte weiE ot )

(C) ¥ Ua Wi diaT W -HE- 3105 U 947 21

(D) ¥ WSISRAVE =T Wa W, qTaT I1Th WTH T 8

(B) rgaRaws
3 Which of the following is a brackish water fish?

(A) Loach (B) Rohu

(C) Perch (D)  Pompano

(E)  Question not attempted <

Frafafas § & F €@ @r a6 qodf 22

(A) d= ®) ¥

© W @)

(E) i@ wd
4 Find the number of coins, if each coin is 2.5 cm in diameter . . L

cylinder of height 10 cm and diameter 5 cm, 02 em i, o be melted to form a right g

afe wfa fradh 1 =ama 2.5 At 3 wterd 0.2 a2 4y . P, #
s e e A ey R g 10 3t i aar 5 e, FH S
(A) 200 ] ® 25
(C) 50 ®) i
(E)  Question not attempted / 3IAfta uy

5 Internal length, breadth and height of a rectangular box are § ¢

mn 6 cm Qi
How many boxes can be packed in a cube whoge volume js 61 nd 4 o res

44 e Pectively.
sraarRR feet € wva, it ) m” 9
o ol wlrgré 3 S sy, scm'()cmam“cmh
6144 cm’ Sty 35 gy f vt 82
(A) 28 ® g
©) 32 ©)
(E)  Question not attempted / 3Tafa wer 36 . Gt
A171 . E
1
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@ If the word “MATHEMASTICAL” is spelt with “N” in place of “MA™, then the percentage rcdugg%n in the number

(E) Question not atte d

Syore v feve sl BT 6 Lo 3 A7

of letters, is: O
“MATHEMATICAL"%’@ “MA” 3% T gt *N* R sty svedl o) dieen i frat sfom % Fmefi?
2, v
@ 153% (! ) 165% o
o ; O
©) 20% ™ D) 165% ‘ r~
(E)  Question not attemptéd / Sl war I
i 7 A lent T 600 to B for 2 years and ¥ 200 to C for 4 years on same simple interest. He reccived all together from both,
¥ 100 as an interest.The rate of interest is
‘AR fﬁ’ﬁ*ggwg,}%mﬁr ‘C* 2 200 TR ! 3 R wET AR S TR 26 E T T T 1007
W §NT| -2 1 dﬁh’&) B s
(A) 4% ™ B) 8% ™
©) 10% o D) 5% (&)
(E)  Question not attenetjd / Frgata g » ()
8 Animal Husbandry contri\zutes around share of agriculture sector in Rajasthan.
(A) 374 vl ®) 1/5% i
© 1/an - () 13
(E) Question not atten:pt’ed (e8]
TSt 7 T & T gy i 1 A Tl s e R o
(A) 3/4=i o0 ‘ B) lsai o0
(C) l/4ai 3] D) 134t ™M
(B) raRawd o o
Indira Gandhi Canal has been built on the following rivers : o
(A)  Sabarmati and Parvali (B) Beas and Satlyj :
(C) Mahi and Chamb (D) Son and Banas
(E)  Question not attempted
iﬁu*ﬁmmﬁﬂﬁ%ﬁﬁf;ﬁﬁimm’lﬁ? , o)
(A) T o T O (B) =4 Ud HagS o
(c wéiEdma 00 (D) WA T ?)
® sgaza O -
10 The state of Rajasthan p ces around % of the total wool production in India. P
TerET U9 W # F 7 A wfereTe IeqTe WAt 81 [~
(A) 40 i B) 30 i
(E)  Question not attempted / gt wa
11 Which Regiment of the 1#dikn Army did Major Shaitan Singh belong to? ™
(A) Madras chimento (B)  Kumaon Regiment g
(C) Dogra Regiment (D)  Bihar Regiment ™
o
o
() wEE e - ®) g Rl r~
(B) IRiE wH
A7 1B 2 ~ [PTO.
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12 Given below are two statements:
Statement (I): Agrarian movements of Rajasthan before independence were led by non-farmers,

Statement (I1): The movement in the Ganganagar arca Was le
In light of the above statements, choose the most appropriate ans
(A)  Statement () is correct but Statement (11) s incorrect.

(B)  Statement (I) is incorrect but Statement (I1) is correct.

(C) Both Statement (I) and Statement (11 are correct.

(D) Both Statement (1) and Statement (IT) are incorrect.

(E)  Question not attempted

F2 Qo R #:

U (1): ST & UE ToAM & i aﬁaﬁm%qa?r{-ﬁaﬁ?fﬁmml

HU (11): TR &8 & ST 1 g T A A ma;mmwn
mm&mﬁ,ﬁﬁmwﬁﬁﬁﬁwﬁaﬁwﬁm@

(A) e (1) e & S o (1) TR ¢ (B) m(l)nm%éﬁﬂm(ll)wa

wer from the options given below,

© e (1) i (1n) 3 w8 D) a;ma)ammal)z’tﬂé’rmﬁn
(E)  ata s
13 Where is famous Sela pass located through which road connects to Tawang?
(A) Assam (B) Meghalaya
(C)  Arunachal Pradesh (D)  Sikkim
(E) Question not attempted ;
wmﬂwm'ﬁfﬁwﬂ%sﬁmﬁmﬁw@
(A) ' (B) e :
() I W (D) fohm
(€) IFARTTH
14  Whenthe government spends an amount equal to the revenue that it collects, it is known as a:
(A) Balanced Budget ' (B) Equal Budget
(c) Deficit Budget (D)  Surplus Budget
(E) Question not attempted
wmzﬁmmm%muﬁrmmﬁ%ﬁmmg:
(a) wGRTAITE (B) W
@€ TRHTIT (D) oY s

(E) aﬁﬂﬁ’d a4
15  Who among the follo

one of the most influential books of the twentieth century?

(A) Kenneth Arrow e kit

D s e (D)  John Maynard Keynes

(E) Question not attempted J
Wﬁﬁ‘m'm@w*mm‘wﬁmﬁmmmﬁmém
g@«‘ﬁmm%‘l :
(a) F uy 5o At |
O (D) it e v

(E) et T4

A17 l@

dby Y.N. Handa, a Communist lcader,

wing is the author of the’General Theory of Employment, Interests and Money's |




(6  Who among the following is known as the father of Green Revolution in India?
(A) Hiralal Chaudhary (B)  Sam Pitroda
(C) M.S. Swaminathan (D)  Verghese Kurien
(E)  Question not attempted

frfeRaa & & el s 3 wfta iy w6 s v strar &7

(A) e sl B) & fdrar
(C) U TH. WrHiAre (D) =ffa Fie
(E) Srguia us

7 What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)
(A)  About 65% (B) About 60%
(C) About 85% (D) About 75%
(E)  Question not attempted

T 3 W e A Rt sftvera st st s 3 frg R w ko oty (@ i & wer v e 39)

(A)  65% = (B)  60% @M
(C)  85% =T (D) 75% ST
(E) Igaf@wy
8 Prwar Aemraam
(A == (B) IR
(©) =iy (D) wgifE
(E) gaf@ws
9 Iuw A IqE -
A) = (B) =q
© 3 D) =
() Iigafass '
0 TTEIE IR H W R-
(A)— @™ ® 3
© = D)
(B) IrgaRa sy
N Freafafed § @ S8 T GO F waiaarH v T 87,
a Rt ! b. AT
o =T d.  Tft
2 o 3
1 for o faraedt 3 & waifarss IUGT IO H T4 HIfAC: .
(A) Fawc3ie (B) Fawdaita
(C) FadasNb (D) FaEbaRd
(B) At sa
2 Prefafed # e e -
a~ T b.  WH
C.or & d. m
s W
3 R foraedt & & watfird UG I :
(A) Fa@a3Ird » (B &&eta,c3fe
© Fawasie o (D) FaecaNe
()  afawA
A17)B . S [ P.T.O.
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(v}
23 Frafafea d gea . b Ba T O

a. AT

c.  aEaayE) damw ce o ﬂmmm%ﬁ{;
c.x. TN AR R o
A1 R Rt i & waifres v IO : o
(A) aﬁﬁcaﬂtcro B) a;aauaﬁ(c)’
© mbaﬁrd: (D) Fcasite v
(B) i@
24  Given below are two statements: (‘i")

Statement (1): Sansi1s Nomadic tribe mostly found in Bharatpur district.
Statement (11): The@ division of Sansi are Vija and Mava.
In light of the above f tements, choose the most appropriate answer from the optigns)given below.

80

(A) Statement (I) 'szomcct but Statement (II) is incorrect. g

(B)  Statement (I) i§"incorrect but Statement (II) is correct. o

(C) Both Statemeft'(I) and Statement (II) are correct. -

(D) Both Statement’ (I) and Statement (II) are incorrect.

(E)  Question not attempted

o (): et o e &, P e, s v 8 rd et 21 Q

T (11): W S o e i e 2t 8 ) | g

et e 1 e g et & v v e o

(A) o (1) W &gty e (1) e &) ®) e (1) e & AR (1) TE R
(C) = (1) 3 (1) ST w8 (D) W(I)aﬁtaammﬁ—,ﬁ-@ma
® wafawa

25 Given below are two statements:

Statement (I): The Ghambal project is a combined project by the Madh
Statement (II): Maﬁ}owcr project is located close to Udaipur in Rajasthan,
In light of the above Statements, choose the most appropriate answer from the opti iven bel :
(A) Statement (l@conecl but Statement (11) is incorrect, ot g deny
(B)  Statement (IYf9incorrect but Statement (11) is correct,

(C)  Both Statemént (1) and Statement (11) are correct,

(D) Both Swu:m!r_n't’(l) and Statement (I1) are incorrect,

(E)  Question not attempted

#ra 2w feu o Eor)
m(l):mmﬁlmp&nmamwmﬁﬂw

A (11): 4ré Tt A H 35 ¥ yrg fgy By e
ITAF Tt & ST ﬁ%ﬁqmwﬂamm

(A) (1) W RE@fFA T (1) e ®) S -]

(©) ¥ () sivcded (1) Gl wéh #) ®) H (1) wera & S (1) w2
) Afany v m(l)aﬁtm(uaﬁmmgl

3803 1700

A
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2 Which of the following writs is issucd by the supreme court to prevent an inferior court from usurping jurisdiction,
which is not vested in it? .

(A)  Prohibition (B)
(C) Mandamus (D)
(E)  Question not attempted

Frerferfiers & 2 ¥t i goera =ararerar gre s o sl #, it Frere srarer i =T e i s B e & aar A
i s e ffte 1

Ilabeas Corpus
Certiorari

(A)  fedg B) i st
(€) TR (D) 3w wféaiidh ' 2
(E)  SFaRa Wt
2 “Blue Revolution™ is related to: (Choose the most appropriate option from below)
(A)  Flower Production . (B)  Milk Production
(C)  Fish production (D) - Fruit Production

(E)  Question not attempted

ol ifer weifera &: (Foer 3 & wrord swgges frerea )

(A) I (B) FUIEEADY
(C) voeh IRT | (D) & IAEAY ‘
(E) IrgaRawx i
. Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
ci Deficient Manpower planning d. Low Academic Standards
Choose the most appropriate answer from the options given below:
(A) a,bandconly. (B) a,b,canddall
(C) aandbonly. (D) bandconly. !

(E)  Question not attempted

T & e gt fomfor 3 e et wer o @ #

a. dgdisAE&r - b. i g
c. gt SEfE e d. e defte ams
3 forw mu forareit 3 & warffires SUgw S ©
(A) Fada,b3flc (B) a,b,c3 dmft
(C) Fadasitb : (D) FEAbNc
(E) <iqufaug T

2 The main objective of *CHAUKA SYSTEM' of Rajasthan is to .
(A) Manage Water Resources in Water Stressed Regions
(B)  Manage Food System in Rajasthan
(C)  Support Bee Keepers
(D) Increase Animal Husbandry
(E)  Question not attempted
e o < ol % e s
(A) Tt i oy Iqereuar arel &1 3§ 9 & wamE e we
(B)  TSTEAT  wiio Somred! 1 T FEAT
(C)  wywet Urert 1 wedNT FAT
(D) 9] 9TeH i sgHT :
(B) Irgafawy

2 | b [PT.0,

|
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30 ‘Taanka’ is a n?pitional
(A) Animal &sbandry
©) Agriculw

(B)  Agro Industrial Work

technique common to the Thar desert region of Rajasthan.
tem
D) Rainwater harvesting
0 o)

(E) Questiomnpt attempted . m
TTET 3 AT Y & e % fow e UH YT AT 8l
(A)  IYIEHD B)  Ffu siefiE wed
© FN I~ (D) =t e §IEo ~
() srgafea s 1
/' The percentage of arca under cultivation in Rajasthan is around
(Choose the most appropriate option from below) -
o i et S T e sfoera 1 (Frer & & v s Rea ) ()
(A) 5% g (B) 60% 8
C) 45% o™ D) 51% ™M
(E)  QuestiogTot attempted / Na?fﬂ'ﬁ uFq o
2 When a commddity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the coxesodity inTis:

ST O T 1 £769.60 T AT SR Y 25% Y Nt &1 g 1 AT o W T 1R
(A) T94.80v{ B) T90.20
(C) %92.80 (D) <88.80

(E) Questiomot attempted / agaﬁ?r 9T
@ A batsman ma@ a score of 90 runs in the 17" inning and thus increases his avem%y 3. Find his average after

1

17% inning? Q0 0
“(A) 40 RunfY) ; (B) 42 Runs ™M

(C) 44 RunfD (D) 38 Runs o

(E) Questiogot attempted O

T aestaTst S 170 9t i 90 T 1 TR A & Rt sewn sived 3 w5 St a7 Wit & e s siwa

3ra Fiferg i - .

(A) 40W B) 4492

C) 44w o D) 38W

©) o™ %) ﬁ (D) ™

(E)
The income of . Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure m%. theratio 2: 1, If each saves

7 10,000, then{NIy. Dhull’s expenditure is: ™M
m.maﬂrmmmmagmmm%aﬁtmwugmzzl%mﬁng&gooﬁmmiﬁﬁm
wegeg- O o
(A) 70,000~ (B) 75000 ~
© 260,000 (D) 65,000 ik
(E)  Question not attempted / 3ITAfd 94
35 Frafafas wftr-faeda & sracia o qdl i i e fifv .
a. =ufa+uF ¥ bt Frem=fr+am- M
ey =7 + 0~ dy W=3}ﬁ+m Q
e. =TT+ FA 7 ; o0
At o e P & e g IO ™M
(A) Facic el e (B) %FEaea,baik d 8
© Falresid ® FEeashe o

A17]3
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6  Which of tl}e following organization functioning under the Ministry of Statistics Planning and Programme¢
Implementation, Government of India conducts five yearly surveys of employment and unemployment?

(A) NSSA ) ® SSP P
© NSS = (D) NSSO o
(E) Questior} notQ{?empted
T BT o G0N, BT U sl ahmefearart sirerr 3 anfi Frferfiaa ﬁazmmm%wm st s
GEdla HEET FATRD | -
(A) TITHTHT (NSSA) (B)> wmuEdt (SSP) o /
(C) TITHTH (NSB)~ (D) TATHTE3T (NSSO) ~
() IFTA@IH ey

7 What is the total income of the country divided by its total population called? (Choose thﬂost appropriate option
from below)
(A)  Gross Incomé¥) (B) Net Income o
(C)  National Incézie (D)  Per Capita Income o
(E)  Question not@ffempted
fee o e ST g & P T Y o v - (T 9 T
© TEEIE O (D) wir=afE T Pt

(E)

}  From which of the following funds all expenditure of the Government is incurred and no.alﬁinvmt can be withdrawn

FERATT

from it without the authorisation from the parliament?

(A) Public Account (B) Private Account
(C) Contingency¥und (D) Consolidated fund ™
(E)  Question nofAstempted :
ﬁnﬁrﬁaﬁﬁﬂﬁ;@ﬁrém%a\ﬁ.mmmﬁuﬁw@ﬂ@m%ﬁm;ﬁ%@uﬁranzf@aé’fﬁm
gl 87
(A) < Er oL ®) fsfraar ‘3
©) mﬁuﬁr% ' (D) wifEwa faftr e
(E) IaRass
) Given below are tatements:

Statement (I): At the parliame
on people by his learned interpretations. The keynote o
between spirituali
Statement (II): In
He was a great hu

nt of Religions held at Chicago in 1893, Swami Vivekanandade a great impression
f his opening address was the need for a healthy balance

S d materialism. ‘
. he founded the Ram Krishna Mission. The mission stands for re{ig}ous and social reform.
t and used the Ramakrishna Mission for humanitarian relief and so€i8l work.

In light of the abovddthtements, choose the most appropriate answer from the options giv¢below.

(A) Statement (lﬂgzon'ect but Statement (II) is incorrect. ™
(B) Statement (Iﬂaincorrcct but Statement (II) is correct. o
(C)  Both StateméniX) and Statement (II) are correct. o
(D)  Both Statemént(I) and Statement (II) are incorrect. ~
(E)  Question nottempted -
e Sr e ey e &:

wuA (I): 99 1893 5 faramy F ue i waa e o T Tt R A av R of st & suftew
?ﬁvﬁ%mmm,mlﬁmm%g@ﬁgizﬁi&waﬁnﬁﬁmﬁ%ﬁa@w#@:ﬁ

AT 81
o (I0): 1897 3 mmmﬁmaﬁlﬁmuﬁmaﬂ{mﬁwwﬁmm@ﬂ@mm
& 3K 3R T (R, 26T AT AT ST e e S amor st & fer fmm 0
IR AT F 3 faq e fardredt 3 & waifo Iuge 3| o™
(A) FE (1) | e (1) e 8 (B) & (1) et & aifh s (et 1
(C) U (1) 3 ot (11 31w B (D) & (1) 3T (11) ST ECea &
(E) amﬂasm: r~
1713 9 v [P.T.O.
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40 Who formed a women’s regiment in the Indian National Army in 19437
(A)  Jawaharlal Nehru (B) Subhash Ch-andra Bose
(C) Mahatma Gandhi (D)  Sarojini Naidu
(E)  Question not attempted
1943 % 3fvea erer ameff & it Write o s e <t of

(A) TR e ®) FITEREE
(©) HereHT T (D) wARFEg
(B) oruRawsy -

41 ‘In Memoriam’ painting was painted by whom in 1859?
(A)  George Paton (B) Jone Kersia
(C)  Jone Borkar (D)  Joseph Noel Paton
(E)  Question not attempted
18598 5 e sqrerr S frerds g s o o
(A) it e ®) SEwRiEr
(©) <adx O SReTede
(BE) rgafa wy

42 The Mudaliar Commission was setup in 1952 to: (Choose the most appropriate options from below)

(A)  Examine the condition of the secondary education system.

(B)  Formulation an industrial policy for an independent India.

(C)  Study the allocation of resources between the centre and the states.
(D)  Study the demand for the re
(E)  Question not attempted
1952  yaferar st <6t wemmr oy 7 oft. (Frer 3 & et 3ges fore )

(A)  wTeafie fe someft i Rufi i site % iy :

(B) T W 3 fore fefives Hifr fam et & form

(©) hww%mm%mwmmeﬁm

(D) w%mwmﬁ%gﬁaﬁﬁmmaﬁwﬁmﬁ%mwmaﬁ%ﬁm
(B) rgaf@ws

43 Rajaji Tiger Reserve is located in which of the following states?
(A) Uttar Pradesh ) (B)

-organisation of states based on basic principles on liguistic basis.

Madhya Pradesh
(C)  Uttarakhand ' (D)  Rajasthan
(E)  Question not attempted )
Pt # & 29 & v 3 womsh zrém Rerd e &
(A)  IWwRW A B) "Wy
©) swdEe (D) TSt
(B) Igaf@yy

44 Sariska National Park is mainly famous for? (Choose the most a
(A) Indian Leopards

(C)  Royal Bengal Tiger
(E)  Question not attempted

mmw;jgmmmmm (et 3t & et 3w e )

PPropriate option from below)
(B)  Siberian Crane
(D)  Asiatic Lion

() T B) R 3
(C) T S ST : ©) e am
®) oraRa A
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Which of the following statement is not correct about g_geak forests of Rajasthan? (Choose the most appropriate
option from below)

Generally the héigh M
(A) enerally the (_g‘ t of the trees range between 9 to 13 meters
(B) Teak wood is commercially useful and used for making furnitures, panels gdoors, windows and house

construction

% W 4]

(C) These forests are located in the southern and south-castern parts of state o
(D) In these areas, annual rainfall varies from 150-200 cms. O

Question not attempled
m@aﬁ%mmwmﬁ%g@m/_%wftmwﬁ%? @wﬁamﬁmﬁm=®
(A) mmaswquﬁﬁéﬁréﬁ 13 Hiet @ Bt 21
®) & B e s w & I & o g i e e, Tt A e, Ragfe st Fetr

A (42}
(©) st T it el bt fe o R 4 £
() A s ast i 150 & 200 Ao At Bl ?’
(B) Faf@ R - o
Which of the followmg’does not correspond to an audio file’s valid extension? o
mﬁ%mwm%%m%mm T~
(A) rar el (B) .mp3 i
(C) .mid D) .wav
(E)  Question not attempted / xR ¥
Convert (101110), = (2)§ ™M

2

{base 2 to base 8}  €F 8
wfafda fifs 0 "
(101110), = (?); «
(3T 2 ¥ 3TUR 8} ey &}
@) @O [~ ®) (20) :
© (56) v D) (@8),

(E)  Question not attempted / 3TTaRd F2
Which of the following is not a type of the printer? (Choose the most appropriate op&i;»in from below)

(A) Laserjet Printér ! (B) 3D-Printer

(C) Inkjet Printer (D) Dot Solid Printer o0
(E)  Question not att mpted (e8]
mﬁﬁmmmﬁﬁﬂﬁﬁ?(ﬁqﬁﬂmmﬁwgﬁ) o
(A) e fiex (lz‘a‘s’eqet Printer) ®) 3dfxr o
© ERBR ©) TewRElx [~
() gufawd .y |
. Mantha river merges in which of the following lakes of Rajasthan?

(A)  Anasagar lake (B) Sambhar lake

(C)  Picholalake (¥} (D)  Didwana lake 8
(E)  Question not 4itempted pod
mﬁﬁmﬁ%mmﬁﬂmﬁﬁmﬁm@ ™
(A) mmErmha() (B) wivtsfieT o
© frefensha O D) Zreamrsa O
® omEfawy & ~

I3 f:q 1 i [P.T..
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: ?
1 soon of Rajasthan’
50  Which of the following statement is not correct about the winter mon

(A)  Winds are dry due to their terrestrial origin impacting rainfall.

(B) In this period some winds bring rain after coming into contact with mediterranean cyclones.
(C) A highly developed pressure centre to their north of the Himalayas impacts rainfall in winter.
(D)  Winds start blowing from occanic high pressure arca to terrestrial low pressure are causing mmfall.
(E)  Question not attempted

Pt 3 & 9w v, o gt e et if e A 82

(A) el Iy & s gard e el ¥, R aat sonfera 2l 21

B) v Sy & o A spreammi AT 3 e i o & ar af @ 8

(©) Tewrera & 3w w areafires Rt zama g wféai & aaf ) snnfara e 2)

(D) W =2 Tara & A Tl P zara & ot ol gad wert el €, e anfear €t 21

(E) rgafEwx

——"

51 Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A) Jaipurand Agra (B) Mathura and Jodhpur
(C)  Jaipur and Delhi (D) Delhi and Gwalior
(E)  Question not attempted
F AT H e e - (e i & e s e )
(A) SARTE ST - (B) YU T ST
(C) <ARuE faesft (D) Tl v afera
(E) Saiays

52 Who among the following is not included in the committee constituted for the appointment of chairperson of tt
National Human Rights Commission? '
(A)  The Speaker of Lok Sabha (B)  Leader of the opposition in Lok Sabha
(C) The Prime Minister (D)  The Chief Justice of India
(E)  Question not attempted
P 8 o e e s 2 e o i e R e e e £ By
(A) HEEF oy (B).  wrarw o Rraer 3 e
(€)  waEEh (D) W & we =
(E) wqafaag

53 The State Information Commission submits its annual report to the-
(A)  State Government (B)  State Legislature
(C) Govemor (D) High Court of the state

' (E)  Question not attempted
T A s s anfdes fond fae s w o
(A) TSHEER B) Uy Ryrmuga
(©) TSAu (D) U & gea —REY
(B) afE9g

A17]1§3 12
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Cons:d‘er the.followmg statements regarding delimitation commission in India and choose the correct answer from
the options given below:

statement (I): Delimitation Commission Acts have been enacted in 1952, 1962, 1971 and 2002 for fixing limits or
boundaries of territorial constituencics.
statement (II): Its orders cannot be challenged in a court of law.,
In light of the above statements,choose the most appropriate answer from the options given below.
l (A) Statement (I) is true but Statement (I1) is falsc.
(B) Statement (I) is false but Statement (11) is true.
(C)  Both Statement (I) and Statement (I1) are true.
(D)  Both Statement (I) and Statement (II) are falsc.
(E)  Question not attempted
s 3 e ST 3 it 3, PR et v R e g A fg e Rt i 8wt e o < Fif:
o (1): TR TN A 1952,1962,1971 3412002 # it Ryt 1 a0 frfra Fererren <y afeeian Pt 701
3 forg o = '
o (11): T8 ST 1 =rATerd # AT Tt & S Hehel! 21
I FuT 3 ST 3, i e e et # & watfae sugew el

(A) e (1) T & AR T (1) T B C(B) e (1) e & AR e (1) T 21
(©) = (1) R (1) I A FT & (D) e (1) A (1) 2T & e 2l
(E) Fguia ¥

n
o”n

Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?

(A) Members of services established by the act of Rajasthan State

(B) Zila Pramukh

(C) Ministers

(D) The Chief Minister

(E)  Question not attempted

Prerferiad 3 & ToTe & S § AR f A e ®

(A) TS TST o i GRT T Harsdl & qeer ®) ey

() =t (D) Tt

(E) it 9

36 Given below are two statements:

Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.

Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (1) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D) Both Statement (I) and Statement (I1) are incorrect.

(E)  Question not attempted

m(l):mﬁmﬂwm.wﬂﬁmmmmaﬁﬂhﬁﬁ?mwmm%m et
T AW FE € Kﬁw( ki
HYT (11): S T %1 7w T o1 6 wrarg s wsff & = ar v an ol § mive :
il . # yfiver € s 2 e v s
IFer el 3 et i, 419 fg g fareedt i & wraffie segw s
Eg W(l)ﬁﬁwiﬁ%%‘%ﬁ“m (B) @9 (1) Tera & AT wuw (1) g

e (1) 3R e (11) I (D) @
i - ) (1) 3w (1) 3 € v

[P.T.O.
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57 Given below are two statements: : <
uring various eras.

Statement (I): Bairath is situated in Jaipur district. It has been a very develope.d place d ] g - e ;

Statement.(II): It was the capital of Matsya Region during the Mahabharata peno:l—is,tone plaques =

period hate:also been found. . bel ~
In light ofthe above statements, choose the most appropriate answer from the o%t:%ns given below.

(A) Stdtement (I) is correct but Statement (II) is incorrect. o3
(B) S(@\ent (I) is incorrect but Statement (II) is correct. &
(C)  Bqth.Statement (1) and Statement (II) are correct. Ay
(D)  Both-Statement (I) and Statement (II) are incorrect. 4
(E)  Question not attempted

f=ad g §: €

HT (1): @43, S et 3 Rera {1 e frfivr 7t & o o wga & sl g 2

A (L1348 HERE e ¥ S T 87 I T o1 GH1E 379119 o et i Bien afgand oft 7t fireft &

IR i B 3reites 8, 1 R et & wratfires sagw sa0 T M,
(A)  FT) Wi & AT o (1) e R ®) mmm%é%m(ll)a’ﬁ%n
(©). aﬁa)aﬂtwm)aﬁaﬂﬁl ' D) ma)aﬁtmgaga‘ﬁhﬁm%l
®) s | -
58 In 1453, who seized Mandor from Marwar and married his son Raimal to a princess of Marwar.
(A) Maharana Lakha ' (B) Maharana Simbha
M
© l\marana Kumbha . (D) Maharana Mokaf
(E) ¢ tion not attempted %
T 1453 3 et w1 AT & e R o1 T ST o e i1 foraTe At gh e & forar e
(A)  WERgU ARET (®) wEwOm T €O
© wErTEeT @) wERETHEE O
®) Hrawn ‘ >
59 Which nai_n'!suy has introduced the Cinematograph (Certification) Rule, 2024? i
(A) Ministry of Information & Broadcasting (B) Ministry of Law & Justice
©) M{'ni;uy of Agriculture (D)  Ministry of Comgmgree and Industry
(E)  Qugstion not attempted (-
Frefafadiia far ramera gr st wad (rmmofieson fram, 2024 wmy R
(A)  FETSI R dAT ®) fafrsicam
©) (D) =y afkx m@m
~(B) 94 =
60  Sierra Lepng in April 2024, declared a national emergency on the account of : vl
(A). Floods (B)  Political unrest
(C) = Zombie drug abuse (D)  Food shortage
® - Question not attempted 8
agazozﬁ. Preaferfiaa # & Rk oo e feyaia i TS ST it N T
@B @ . ®) TR T
(©) STEFEE g © wEEHw O |
T o
) - 14 B
[ P.T.O:
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Given below are two statements:

Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.

Statement (II): The head of the family is known as ‘Kotwal in Kanjar tribe.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted -

e 31 A feg g &:

U (I): TR § S St it Hier, 38, 9w, g, sieare), sy, et 3R seat e 4 91
St 21
FU (I1): F5 A 5, TRER 3 W@ i FITEAT” 3 AT & AT ST 81
IR FaA1 o AT 1, 4 g e femedt § & watfaes sugew S

(A) =99 (1) |e & Al 9 (1) 7T 21 (B) ®¥F (I) Tera & Ao 97 (1) T 21
(€)= (1) 3R F (II) T & & (D) 9 (1) R Fo (1) 3T & Terdt &

(E) Fdai@yd

Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A) Jalore : (B) Barmer

(C) Ganganagar (D) Banswara

(E)  Question not attempted

2011 = FIVAET & AT e 3§ & Trorear 3 fora firet o wfear arerar fr st ga@ w9 @2

OV ' (B) e

(C) AT (D) SigaTsT

(E) HI@lE9d

Given below are two statements:
Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.

Statement (IT): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C)  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

a1 21 g fag o #:

T (1): A et figh wward s, e, wroria, sgaqe st fierarst et & et § arf st &1
HUF (11): mmmmmmﬁammwmu

IV FHe o ST |, e g e fwedt # & waffas sege e

(A) = (1) wét & Sfe o9 (1) Terd ) (B) YA (1) Terd @ AT FT (1) T Ry
(©) == (1) Sy (11) 41 | 8 (D) YA (1) 3N FHUF (11) 31 & Tera
(E) g wg ‘ .
i@ 15' [P.T.O.
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i i er?
i roup of elements in a non-linear mann
64 ﬂ\:};at ty:;:; data structure 15 used to store a group o -
Tree
Clc) Queue (D) Tre ‘3
(IIE Question not attempted ' . .
%maﬁ%w%m%mmmﬁm@mmmﬁjm
(B) '
A ®
o . ® @ o

- 0 |

() raRa W

65 ‘“that is the name of the software used to perform specific tasks on computer byluscr?
(A) Artificial Intelligence (B)  Application softyare

@) Operating system (D) Utility software

i tempted '
¢7(E) Question not attempte maﬁmﬁmaﬁﬁmmﬁa@“@“mmm@

——

O s g et R e
() enReRmEe R ®) i
Cilo) e R (D) tﬁqz%aﬁ
- QE)  wRiasH : o
66 [™Which of the following is an Azonal Soil group? : o
A) Lithosols soils - (B) Tundra soil [~
(C) Laterite soil _ (D) Podzolssoil .}
m(E) Question not attempted
e & & F T TEE 7 EE 82 .
@) FaE ® T ™
©) e o =i O
OE) FFaRa A 0
67 (yWhich of the following is a fresh water lake? m
[~(A) Didwana (B) Pachpada
«{(C) Sambhar (D) UdaiSagar &
(E)  Question not attempted r~
Frrferfiae i & 2 € ars o 6 e 2 —
gA) fezam (B) wEYE
C) ®|MT
OGE) wrgEi@ya @ www ™

68 ("Change the direct speech into indirect speech by selecting the most appropriate gptian :
CHe said, ‘I am quite a good cook and I do.all my own washing and mend*iﬁg to o
CIA)  He said that he is quite a good cook and he does all his own washing tm@e di
52)- He sai.d that he is quite a good cook and he did all his own washing and 'n:!linmgtotzo .
(D)) i:: :}i :rhnald h;m we;ls qmtc 'a good cook and he did all his own washing a mcnd?ng tc')o ‘
ed that he is quite a good cook and he can do all his own was ‘n_x\g and mend;ng too

0{5:1 Question not attempted
69 ich of the following is not a procedural language?

A)  Pascal
ca (B) PROLOG

C) FORTRAN ©) C ™

E)  Question not attempted Bk o

%ﬂmaammm raress 1] &7 0

A =S ™M

1%, wem ®) i o

E) R s D) o
A17]$ ‘fk'\{ 16, ™ ¥
i [P.T:
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70  The starting point of Indira Gandhi Canal is in the statc of:

(A) 'Rajasghap (B)  Uttar Pradesh R
(C) Haryatia (D)  Punjab 9y
(E)  Questish not attempted o
R et ey st fig e T 8 ™)
(A) TR (B) IWHRHW ¢y
©) whawi (D) e (o]
®) %ﬁw [~
11 The Ja\vnharvszgnr Dam is on which of the following rivers? v~
(A) Bandi (B) Chambal
(C) Satluj(¥} (D)  Sabarmati (v}
(E)  Quesfior not attempted <
SRt AR e eeriad # & e T qrde o0
@ =i 7 (B) e ™
© g © wEwdt @
(®) Nﬁﬂ%ﬂ : -
12 Choose the t appropriat, ive fi f the giv tence. -
most appropriate passive form of the given senten i
I don’t li}ce people telling me what to_do.
(A) Idon’tlike what to do by the people.
B) I donmke being told what to do by people. ™
(C) Idon’tlike being told by the people what not to do. o
(D) Peop ‘_4re being telling me which I don’t like &?’
(E) Ques&'?y not attempted e
'3 Choose the most appropriate passive form of the given sentence: o
I didn’t realise-that somebody was recording our conversation. [~
(A) 1didn’tfealise that our conversation was being recorded. =

(B)  Our conversation was being recorded by somebody.
(C) - Our conv:rsa'tion was being recorded and it wasn’t realised.

(D) Somer’g&iy was recording our conversation was not realised.
(E) Quesﬂ not attempted
4 Identify the Wgrd that can best substitute the given expression:
A state of wprry or general unhappiness. _
(A) Dystrey.y (B) Dystopia
(©) Dyxp‘w;ia (D)  Dysphoria

(E) Ques‘iog not attempted

17003803 17003803

'S Find the missing number (?) from the given alternatives,
ic ﬁﬁ‘zmﬁmﬁﬂ(v)m%ﬁwmaﬁmﬁl
%
: o
2 (A) 46 & B) 64
© so (D) 48
(E) QuesE‘_tzxi not attempted / IARA W
\17 ]@ 17 . : o
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77

78

79

If Q means *“+ *°, J means *“ x **, T means * —

ﬂf%Qa?rmf“w'Jamanf"x"Tmmf " 3R K T o7ef « + AT R, T
~
30KZQ316T5—?

* and K means “+ ' then

(A) (s3—fé e o~ (B) 28
(© 103 (D) 35

(E)  Question not attempted / C‘ﬂaﬂfm L

SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with

(A)  Ammy Personnel (B)  Tribes

(C)  Students (D) Farmers 4
(E)  Question not attempted

S T R AR ST BT Y T A8 (SHRESHTA) ST e awg 21

(A) & Ffils (B) =

(©) B (D) et

(E) Suiaws

Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all
the houses?

(A)  Tamil Nadu (B) Odisha

(C)  Rajasthan (D)  Gujarat

(E)  Question not attempted |
Freifeia & & e o eewerm fover roer el oy o oot e srapon e 8 sirrea @ e |
(A) afierrg ' (B) 3hfemm . |
(C) T~EH (D) TS |
(E) 3yufea " 1
When did the Simon Commission arrive in India? q
SR & W16 SITENT e 37 |
(A) 1930 (B) 1932

(C) 1925 (D) 1928

(E)  Question not attempted / SIaftd 94

Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?

(A) Sheetla Mata fair (B)  Kapil Muni fair

(C) Beneshwar fair (D) Karni Mata fair

(E)  Question not attempted

TSTEA 1 F13-H1 el TSTeT) SAfd 1 o e 87 1
(A)  frae arar e (B)  wfver gy e a
(C) vt e (D) =t wraT e

(B) gt sg !
During whose reign, a folk drama *“Tamasha’ started? (Choose the most appropriate option from below)

(A) Maharaja Maan Singh (B)  Maharaja Jai Singh

(©) Maharaja Pratap Singh (D) Maharaja Sawai Singh

(E) Question not attempted

Frerffiaa # & o st i camrm A e Ay g R (ﬁnﬁammﬁm@

(A) TR fie (B)  WeRwI Y fiig

() s fie (D) WErrS g i

(E) gL -
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4 jn which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fatch Burj located?

Gy Sl fort (B)  Junagarh fort (")
() Lohagarh fonfi) (D)  Jalore fort <
(E) Question not attempted 05
Wﬁamwﬁmm.mmmymmymm ()
() TR R 3 ®B) G P ©
© aers e - (D) e fren ©
€ SR T -
3 *AGENDA" Frfeitra # e ameh i sgen &% s 22 v
(A) (B) "I
© w ! (D) i )
() FFRaNA (V) e
¢ NS S ST, GRIA 3 ovef o e IR e g 0
(A)  Ed T BTl (B) IwEHFAT (38
© smRwem ) (D) wI AR e |
® smetawm O (e
s e 3 P ST R i 3 P e ST s v o P g &7 1
&) a8l b . (B). FTRTI363 4
(C) DT 243 v (D) =T 351
() rgaia s ' A
§ aﬁ%a‘tm&qwﬁm :’, C\V
T - 1 - 0 3 Al e ffea St 21 , Pt
o - 11 : T, HiETHaT 37 wrert st o it edt 3 or W= S ) 3
i w5 el P Rt § & waife S s - =
(A) = a3, g o 11 S R B) F1oTEA R, Brg e 1 E R
(C) FaT1RMEHTTAR (D) &A1 3R I ST 316 8l ~
(E) wrufawg ™ 4

7 Given below are twb Satements: .
Statement (I): The year 1947 was a year of unprecedented violence and trauma of displacement for India.

Statement (IT): lndiar};(,as born in very difficult circumstances in 1947, Perhaps no other coﬁﬂ‘try had faced a situation

more difficult than that of India. . <
In light of the above (éécments, choose the most appropriate answer from the options givg\\;e]ow.
(A)  Statement (I) rrect but Statement (II) is incorrect. ¥}
(B) ' Statement (I) jsdncorrect but Statement (II) is correct, )
(C) Both Statement (f) and Statement (II) are correct. )
(D)  Both Statemept (1) and Statement (II) are incorrect, =

-
oy

(E)  Question not attémpted
A 2 e fow o

T (1): e 3 ferd 1947 7 1 S i e Freeniv fa ik et sifiverrr @ srer o

T (10): 1947ﬁqﬁhma§aﬂﬂﬁavﬁwfigmwmﬁaﬁmmmi}um’mﬁﬁmma

I T g gy ey A 3 g3 Wl o
I e 35 e o, A 2 e v g g o
(&) o (1) et & sifer o9 (1) Tera ) (B) e 1) e & At ey
(©) m(l)aﬂtagg(u)aﬁwa ® () st 1y &t gi%\:%m
Al7|% . S |
i 19
[ -
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Which of the following state was carved out of Assam ?
(A) Manipur

© Tripura

(E)  Question not attempted

LS F o T ————

(B) Sikkim
(D) Meghalaya

@) g (B) o 4

(D) .
© fagm
(E)  gufawy

Ajay left his office and walked towards East for 5 km, and tumned left and walked fzrtl'lljnk:ﬂ::drra;h "]‘
Rakesh who works in same office, left the office and walked towards West for 5 km an ; "’
for 12 km to reach his home, -
What is the shortest distance between home of Ajay and Rakesh?

(A)  24km ' (B)
(©) 34km (D)

(A) 24 5t (B)
(©) 34 Fdt =X * (D)
(E) e v \

(A) BetweenSand T (B) Between R ;lnd T
(C)  BetweenQand S (D)  Between QandR
(E)  Question not attempted " R
P.Q.R,S sfT g wéﬁﬁ’mmmmﬁmél P.Q Fuwmy p o Fu ey s 7y aquA
;am;a F A it gy R 21 4 T8t wry qr P, Q aﬁtr%maa%, p Bﬁtk@m%_ﬁl Pmmﬁ}
(A) S THFH '

RS
®) R et saf s
©) Q3msFdgi D) xT% ﬁ 7 A
i e Q3RR Fafrg i QUOEE 3

The reaction between an acig and a base jg calleq:
(A Addition reaction

) _ : ®) Dissocimion reactj
©) Neutralization reaction e

(D) : .

(®)  Question not attempted Catalytic TCaction

RRRARLE L L R N S —— &

(A) AT sifiyfra &

C) ST sxfirfipar M %I T oy i
‘E)> - %Y’H aﬁ]ﬁ’—m g

Ic



92

94

96

97

Which of the following cvents is not related to phenomenon of Refraction of light? (Choose the most appropriate
option from below)

(A)  Blue colour of the clear sky

(B)  Formation of image by a lens

(C)  Thecoin kept at bottom of a pot containing water appears raiscd
(D)  Appearance of Sun before Sun rising and afler sunset

(E)  Question not attempted

At o N A e 5 srad A waifir g &2 (it @ i s P T
(A) T T @ e

B) & o g wfafdar @ fmfor @)

(€)W R W 3 e v v v 3 331 gon wefla g 1
(D) e & et i agate & ag @ @ fan

(E) ¥gafaws '

What will come in place of question mark in the following sentence?
:ﬂﬁﬂﬁ&vﬁﬁwﬁ%%mwwmmm

r.\‘i’(')!(J_SE :KPSTC:: LIGHT: _?

(A) MGHFV ¥ (B) JGEFR
(C) MIHIV (D) JJEIR
(E)  Question not'attempted / 3TFxRd 5%

How many genotypes of the human ABO blood group are possible?
THE ABO TR &t & firae st w&y (fiHIeRy) gva 82

(A) 3 - B) 8

(C) 4 (D) 6

(E)  Question not attempted / 3TTAld T4
A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of

pen are:
&@zﬁ%mmm%m@haﬁt@m%hﬁﬁﬁanﬁﬁﬁﬁm%
(A) 3 B) 5

Cc) 4 D) 2

(E)  Question not attempted / FrgufE 94
The multi channel TV programs can be seen directly at home through satellite by using a *Dish antenna® without any

cable connection : (Choose the most appropriate option from below)

el 210, T, e e e g 2, T, ey e sl v, SO I 1 3 A R
(et &t w99 et ).

(A) C-DOT

(C) .DNS

(E)  Question not attempted / Sﬂﬂﬂflﬁ a4

If any object is thrown upwards with velocity more
(A) Return to Earth

(C) Go into space

(E)  Question not attempted

e et e &1 11.2 /s 1 s it ) @ ) sive e st R, 1w

(B) CDMA
(D) DTH

'lhun 11.2 km/s from earth then the object will:
(B)  Revolve around the Moon
(D) Revolve around the Earth

(A) e anfia a1 e (B) <% & ST SR e
(C) aiafer § et smeft (D) g & i i R et
(B) i@ sd
21 [ P.T.O.

A17 ]G3

CET Paper And Answer Key PDF = Click Here

20



"

| =

NSRS W R () (©) (B () () @ B Y N =llE

"

98  Where is Fullerene used? p—— facturing of jcwcllcfy

(A) Incutting rocks and stoncs (B) {1 making electr odes (V)
(C©)  In purificationofinatural gas (D) In -
(E)  Question not attempted o0
T IwanT el g &7 i o i
AR AT A i
© wpRw i (D) TS o
) s _ e H
99 g:is lhcunfxzr of A m B. If D is the husband of B, then what is the relation of C wnI{:li;l i
(A) Mother ' (B) Mother-in-law ?'
(C) Sister (D) Aunt o a ,J;
(E)  Question not eﬁsmptcd y - (lm 1:
C, AR BRI wdiaRk D, Bwofy /A c o DA FTHI R o i
@ = o ' (B). W 0 g
©€) =& ™ (D) HrETt r @
(E) pfawn O o .
@ In certain code “FROZEN” is written as “OFAPSG”. Then, how would “MOLTEN" be‘whitten in that code?
— e v “FROZEN" H “OFAPSG” forarmar &1 dr e g s & “MOLTEN &) 33 fevar s
(A) OFUPMN " (B) OFPUMN F‘ﬁ OZENV
(C) OFUMPN (D) OFUPNM ocFAPSU
(E)  Question not attempted / Siwfta ™ %
Read the passage and answe&t'he questions that follow: (Que No: 101 to 104) o o

The end of human cndeayo@js happiness and contentment. The advancement of science haginot been able to bring them ! "
about. On the other hand, it Kasimade our live_s complex gnd crooked. We can see with alarm thé'inending war which science
is waging against l'xt_craturefﬁa art. The realm of poetry is being cénquered day by day. The €00thing charms of Nature fly

at the cold touch of sci‘cncc,%at a'solace was there in thinking of the silently shining stars, " i

. th€blessed candles of the night!
What comfort is now left fo the average man to know that the stars are but so many bunﬁ@ suns and the rainbow of
Wordsworth, at the sight of m#ich his heart leapt up with joy, a prism of colours! The cheer and the charm are gone and the e

dull fact remains.
‘Science’, observes G.B. S ‘never solves a problem without creating ten more,’ But art an, iterature are themselves the
solution 1o all our proble; Il our worries leave us amid the Sounding cataracts of Wo e

e 'ds\ﬂi{lh.th helley
and the Nightingale of Kutw:cy are arest to the weary, an inspiration to the discouraged su&,‘ ° Skytack oS ‘: 7
best antidote for trouble. o) ' N ;

101 The cheer and the charm of all humans are gone because: ™
(A)  Nature is the B3t antidote for trouble o
(B)  Science fails [b“bring them satisfaction as it has robbed nature of jig cham "y .’
(©)  Science solvesall problems s
(D)  People don't enjoy Wordsworth, Shelley, and Keats .
(B) » Question not attempted .
102 Identify most incorrégt'option from the following; ™
Art and literature he[pg us: o
(A) w Prevent oyrselves from troyble. (B)  tomay - Q
. tosolveall oprproblems. - ¢ Material progregs in Jife.
() oy ) 10 give regy to the tj
® Qu.ﬁtxon not attempted ¢ "ed@ bored,
G 7 LR 1 r“ 22 O
:—4 o
: 4
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103 The most appropriate meaning of the word ‘solace’ is:
(A)  Contentment (B)  Comfort in distress
(C) Effort (D) Realm
(E)  Question not attempted

104 Match List-I with List-11;

List-1 List-II
Words Synonyms
a, Endeavour L. Dishonest
b. Crooked L Anything that prevents
C. Cataracts III.  Effort '
d. Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-IV,b-Lec-1I,d-1II (B) a-IV,b-Ill,c-1,d-1I
©€) a-Lb-I,c-1I,d-1V (D) a-NLb-Ic-1V,d-II

(E)  Question not attempted
105 Red panda is main fauna of which of the following biosphere reserves? .
(A) Dibru-Dibang (B)  Gulf of Mannar
(C) Nanda Devi (D) Nokrek
(E)  Question not attempted

Tz e, Frefafaa # & fra i sframose @ w 82

(A)  fegfeain (B) FEARH @
(C) =1t (D) b
(E) SAgaf@usd
106 * The Punchhi Commission (2010) is associated with which of the following?
(A) " Reforms in Education (B) Tax Reforms
(C) Center State Relations (D) Abolition of Death Penalty

(E)  Question not attempted
92t T (2010) Frefefa # & fred defta 82

(A) fomEndguw (B) FHUR
(©) FETEHEN D) FITE I
(E)  SigeRasa )
107  Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A) Kamla Beniwal (B) Vasundhara Raje
(C) DiyaKumari (D) Pratibha Patil

(E) - Question not attempted

frefafiaa # @ %14, a1 54w wfgen 3q-gqegH o7

(C) 4 - (D) y
() HFAfa T4

108 How many MPs are nominated in Rajya Sabha by the President of India?
WTC 3 TgaTa B0 TS A1 e wawdi (Mp) @) wevta R s @2
) 18 (B) 10
© 12 D) 6
(E) Question not attempted / 3gaft wy

A17 ]@ 23
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r speak. This Phenom

' her membe i
ng and let anot 1
109  The speaker can usw'mcmbcr of the House to stop speaking ¥

w i floor ™
g () Yielding the o
(A)  Interpellatiopyy

srosssing the floor o)
L (D) Cros

<
N

™ B
E uestion not@ttempted 3T A Y ST oy
;h;m:mﬁu&t&wm;ﬁﬁaﬁﬁmmﬂmﬁﬁmﬁmzﬁwﬁw'%
(A) WA A B) ;mf"a e T
© @ ®) i
() gai@ww :asthan Government for farm y ]
110 Which of the followj¥g is the name of a mobile application launched by R“J‘.‘ _ -
(A)  Rajasthan Fatmiers App (B)  Raj Kisan Jm_v'k App g
(C)  Farmers Orghtiit App (D)  Kisan Organic App o0
(E)  Question nol‘y}cmptcd m_,
Pt i @ R ST T T ST R T e Qe 1 AT TS
(A) T EY ®) T o e X o
© i sifif Ry @) Frw SRR
(E) gafaws L i
111  When was the ﬁrsMgﬁculmre Budget presented in Rajasthan separately? (Choose the most appropriate opti
from below)
e s gy e e e e v v e ) )
(A) 2022-23 vy (B) 2023-24 o0
©) 202021 . (D) 2021-22 ™M
(E)  Question ndt-attempted / TARA T o :
112 isa mexr.‘:? used to store data temporarily, whereas stores data figfmanently, _‘ ch canr
altered or deleted. L=
(A) Compiler, ROM (B) RAM, Operating systeﬁ"
(53 RaM.ROMer) (D) ROM; RAM

(E) Question not@cmplcd 3

uw FArdt e v stiwsl A s w9 @ dee
%mm%%mmt.ahﬁwﬂaﬁamﬁNWWm? ﬁmm%':%

@) WO ®) W, siRfen freen

€) ‘m;im (- (D) .&W'h ™M b

€) sAfamg O o
113 Hardware that is ust!?do provide information, data and to contro] signals ¢ o %

called . (Choose the most appropriate option from below) 0 & computeE $ystem from

(A) Keyboard &Mypuse ®) _
(©)  Output Deyigey P TET Monitor

(E) + Question not/atempted Secondﬂl’y Storage Dexipi
P TG 1 g erdaan forwa 3w wred s &
me,asmmﬁniﬁm%ﬁmg})' ‘l“’“mm St amﬁmsom:,

a) Foiea T S ® By, bt
© ‘“mgz; . “‘-q“ ) M&?“ o
24 &~
Al713 - i
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114  The height of banana tree and lemon tree is same, Mango tree is shorter than plum tree. Guava tree is smaller than

mango tree but biggfs than banana tree. Find out which is the tallest tree?

(A) Plumtree ¢y (B) Mango tree :g ‘
(C) Lemon tree(¥) (D)  Guava tree oM
(E)  Question nmlcmplcd ™M

o 3 o o G o b e A g v
& 7T R T gt {3 @y Ak A%

(A)  Segam T g o) sy e
© HAqwds (D) SERHIUZ
(E) i@ ws g
115 Given statements toghe true even if they seem to be at variance from commonly kncg\} facts , then decide which
conclusion would foffbow on the basis of given statements. Q)
Statement : No n@ber is a digit. ‘ ™
All dilchlt are fractions. 8
Some,,f?ctions are integers. I~
Conclusion : 1. All fractions can never be numbers. P

II. Some integers are definitely not numbers.

In light of the abowtatementé, choose the most appropriate answer from the options( iven below.

(A) Both conclysion I and II follows (B) Neither conclusion I ae-tbnor II follow
(C) Only conclSidn I follows (D)  Only conclusion II follofys
(E)  Question thtempted : ' "

mﬁqn&wﬁmmiw@m%mmwﬁ#ﬂmm%im =3 g e g et
i B9 § SFETGLATT [
T FHIE AT 3 A R : PIAR _ vl

it 3iF T
FTEE 2l
Frd 1 Tt gy s pl
11 % ot Ve =9 & weard 7@ & 00
aqirer FT o S #, A fa g et # & wraffer Jogw SO
(A) 2FT fvd [ se @®) 7 fre1 s wﬁ\mﬁ\qwmmi\
(c) #FAd e T ) (D) WWIIW%%

(E) @Al vl

116 If the following w%%s are arranged in the sequence which they occur in the dictionary then which of the word comes

in the middle ?
71yt A aviiga pyeatean D sivomer ey AR g
ggc, lilc%r 2N m:c&n. Blesgode %
(Ay~ Election (B) * Elector (s}
(C)  Electric -~ (D). Electrode o
(E)  Question ngtattempted / gl war 2
aig@ 23 v [PT.O.
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o o iif) and (iv) by seje
117 Figure (i) and (ii) are related in a particular manner. Establish the same relationship between (iif) ) ' Clectin,
a figure. 7
Which figure would replace the question mark in fig.?

s () 3K i) o g o e e & il & aregf i) 3 () F

1 T S we e () & T e

QOO ?

[} D @D )

®) ®)
© @,

(E)  Question not attempted / Frgafd ¥
118  Which of the following option is different from others?
Frferfaa § & i ar e o= ol & e Ly
A) (7,56,4)
© 5,184 ‘
(E)  Question not attempted | gt v
119 Rearrange the unorganised letters given below to create meaningful words

® ©.30.9 %
D) (9,?21 2)
“9

and then choose, one of them

different from others ? ) :

mﬂﬁmﬁ:aﬂﬁ%ﬁ&%ﬁ%a&ﬁﬁmﬂﬂﬁﬂsﬂtaﬁg@dﬁ%&ﬂﬂwwmﬁ
a.  DIAFRY ' b.  STEUDYA' pro U8
(R DHAIOLY d. ANDMYO

A c ®) d

€ a ' D) b

(E) Question not attempted / et

120 Which fort is called ‘Sonar Quila’ or ‘Golden fort’?
(B)  Amer Fort

(A) Jaisalmer fort
(C) Jalore fort
(E)  Question not attempted

Freferfiaa i & forer fort 1 g P ol fae 36 AT & ST S 82

(D) Gagron fort

(A)  Swemr . ®) s R
() el frar . (@) T e
® FgERaE
121~ Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option fro
(A) Nemi Charan Bhartiya (B)  Devi Charan Bhartiya
(C). Shiv Kumar Bhartiya (D)  Shiv Chandra Bhartiya

(B) " Question not attempted

T i e s e v A A (e 8 3w R )

yefy = Tt ®)  FHorehy
e © ez,

i 26

2 ;ii.n -' 1
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122 Allah Jillai Bai, affamous folk artist is well known for: o™
() Dance (2 (B) Folk Drama O
(©)  Kurja singfig (D) MandSinging OO
(E) Question ot )attemptcd )
mﬁﬂéaﬁ,gmmmﬁa} 3 ford et el o
@A T P~ (B) <& AREE :2
© g (D) WA -t
(E) rui@wd

123 fa s Ry
U - 1 + 5% THIE 3 9G35 e v g 6 ST @ 21 ™)
U - 11 : P, 30, wom, 3 anf et o e ) ek et 3 i s g s s g 21
I ol o6 ST i PR foredt i Q waifad Jugw S - 0

(A) AR ) P o 11 ST B | ®) o 1 ST &, P e 11 6 R
© w1srEE EE D) mlaﬁtnz"ﬁ”mvg%
® omeRew u
124 -—ﬁ%??rmﬁqnggf -
U - 1 : B A 01 &)
FUT-11 : S AUl Rl
S el 3 eiTes i Pt faehedl 3 & waffis 3agw S0 - ™
(A) FF TR P o 11 37 & ® w1 sy, g T e 2l
(©) Wlaﬂtﬁﬁﬁmﬁ (D) 13RI
@y s o
125 Microsoft Excel’s’formula begins with : ()
TSI T T  wEMygEea ™~
) * i : ® | v
© . . D) =
(E) Question x&gt.’attempted / TR 9 o
126 Whichoneisa snrzadsheet program in MS Office? . ' o
(A) MS Word(O - (B) MS Excel (4]
(C) MS Out_losk"’ (D) MS Powerpoint (48]
(E)  Question xfo.t’attempted o
ﬁqﬁamﬁm@aﬁﬁmms Office) 1 T BIe¥iE T &7 lc\) &
(4 TER (B) THTH T -
(C) THTHAREIIH" (D) THTHIEERE
(B) Faf@ya
127 Which of the foll§Wing is the theme of ‘Jal Shakti Abhiyan: Catch the Rain, 2023"? (48]
(A) Source sus@mbility for drinking water (B) Save our water bodie$-Save our planet.
(C) Save water, Save Earth. (D) Drinking water for alfn
(B) Question nLoLallcmpted o

frefafaa d & ‘:E{jmﬁﬁsxﬁm:ha‘a, 2023%&@3#71%? o
(a) s 3 fepg v < e @Rafaferd) (B)  ®wit i Py STof] EH 5 s

(©) vl o (D) it & g Y oy
®;; IR
A17 1@ 27 [P.T.O.
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128

129

131

132

133

134

Al7 lﬁé

Who has been appointed as the Advocate General of Rajasthan in February 20247

(A)  Rajesh Kumar Gupta (B)  Rajendra Prasad Gupta

(C)  Praveer Bhatnagar (D) N.M. Lodha

(E)  Question not attempted

Wl 2024 3 ) st 3 werfirerent 2 o if Fregen fr man 87

(A) T R (B) Ttz war T

(©) Wl v (D)  UA,uw, &

(B)  rgafawy

High Mobility Artillery Rocket System (HIMARS) is developed by which country?

(A)  India (B)  China

(€©) USA (D)  Japan

(E)  Question not attempted

wré mfferdt snféert e R (HIMARS) a0 R fover 2 g v o 22

(A) v (B) =™

© 37T (D) S

() sgmi@ws _
According to IQAir, which city has recently been ranked as the most polluted city globally in 2023?
(A)  New Delhi, India (B) Begusarai, India

(C)  Dhaka, Bangladesh (D) Pokhara, Nepal

(E)  Question not attempted

Y T FEHE (IQAr) F 317w, F i 2023 & wrriferr wafiver wree avr e, ey rec . formm a2

(A) 78 foeelt, wa (B)  ITEE, WRa
(C) T, Sy (D)  9rEw, J9TEr
(E) afawx

Who was the first Chief of Defence Staff (CDS) in India?

(A)  General Sam Manekshaw ) (B) General K. M., Cariappa

(C)  General Bipin Rawat (D)  General Anil Chauhan

(E)  Question not attempted

WA & 54W <% 31% fe%=3 w1 (CDS) M iy J
(A) e &9 ST _ (B) ST %. U, Ffegeqy
(C) vt fafm vaa (D) T Wil sy '

(E) af@us .
Choose the most appropriate sequence of articles to complete the following sentence:
Itis pleasure to do i business with such efficient érganization

(A) a,_, M) a,__,
(C) __,aan (D)

(E)  Question not attempted
Choose the most appropriate word to complete the given sentence:

If you a skeleton in the cellar, don't mention it to anyone,
(A)  founded (B)

(C)  will find (D)
(E) 4 Question not attempted

Ch&isq the most appropriate. meaning of the idiom given below:;
H‘is‘::ldcsl son, a spendthrift, is a thorn in his side.

(A) < Havingadiscase 1)
© A constant source of annoyance to him (D)
(E) Qucﬁ(i?n not attempted

— s 8N

Will be finding
find

Is in a paim‘ul co

nditj
N asset e
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135 Complete the given sentence by choosing the most appropriate response from the options given below:
He was reprimanded his teacher for biting his nails.

(A) in (B) to
(C) for (D) by
(E)  Question not attempted

136  Which among the following was the major challenge India faced while building a nation state at the time of
independence?
(A)  To establish democracy (B)  Low level of Technology
(C) Poverty (D) Resource Constraint

(E)  Question not attempted

T 35 T g T 3 Ftor 3 s by PrefrR i & e e et a0 e e v

(A) e Y TmeET (B)  eifirht = et T
(© frdwan (D)  waTe
(E) rqafawsy )

137 A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of
labourers was first raised in which state?

(A) Uttar Pradesh (B) Rajasthan

(C) Bihar (D) Odisha

(E)  Question not attempted

T S ST e T 3 06 T (MKSS) 31 7ot X STehret Qe S gt 3 el shi Hiv.eh1 et Gea o o

T IS AT UT?

(A) SR (B) TR
(© fen (D) e
() i@ wd

138 On 6% November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?
(A) Andaman and Nicobar Islands (B) Maldives
(C) Cocolslands - (D) Lakshadweep Islands
(E)  Question not attempted :
6 T 1943 Y, ST @ A 3 sl b, B ST 3 e g s fée i sfafor aw i die @ ok
CEFGE LY

(A) 3ieEm i faEm e (B)
(C) @ErZEm (D) <EHT AT
(E) Al 9=
139 frafafiad § gy S 1e9d &1 UF Y6 76 8-
(A) fesmams (B) IcrET®
(C) FqEEF (D) fargams
(|) « R Ea
140 e ame A | syrar feredom ga e
mmﬁﬁaﬁﬁwwuﬁnmwﬁ?
(A)  uftmTETYE fadior (B)  wrdfin fador
(©  TrarE fadee (D)  wEATETa for
(®) AR :
A17 ]@_ 29 [P.T.O.
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141  Given below are two statements: " .
Statement (I):{Thc fusc is placed in parallel with the device in the circuit. "J.n g the flow of high
Statement (I1): The fuse used in the clectric circuit protecets the appliances by “"9” %e"
through them. (¥} v

; és—ﬁ'ivc" below.
In light of the aboye statements, choose the most appropriate answer from the options &

.

(A)  Statement (1) is correct but Statement (1) is incorrect. (99
(B)  Statement (1) is incorrect but Statement (I1) is correct. g
(C) Both Statement (1) and Statement (II) are correct. i

(D) Both Stgtcx;ncnt (1) and Statement (11) are incorrect.
(E)  Question not attempted

2 A v Reme ™

U (1): WS Y, e 8, 3varor 3 it var st ®)

A (1): ﬁm@ﬁ.@nﬂ#mwywﬁﬁﬂmﬁgﬂmﬁmﬁ%mwmm
mwﬁ%gﬁhmﬁ,ﬁﬁqnqﬁmfiﬁmwgmmgﬁl

¥
(A F9F (1) By ?, A v (11) s 21 (B) W(l)m%,éﬁ»‘%?;gg:;%'
(©) (1) 3 Fo () A v (D) F¥ (1) SR gz
(B) syt g, ~
142 Which of the following is a physical change?
(A) Dissolutiq of salt in water * (B) Formation of curd v
(C)  Cooking of food (D)  Ripening of fruit
(E)  Question not attempted "
Frforfaa & & #h a oa i i & : e
(A) o g g (B) SE HTSEAT Ci';
(C) IS T (D) et T T o
(E) 313“"53(5{1 o
143 Match List-I wjth List-II: a
List-I List-IT :
Chemical Substance Application / Usage ™
a. Bleaching powder I Manufacturing of glads
b. Baking soda II. Dental medicals
C Washing soda Il Purification of drinking water
d.  Plaster of Paris IV.  Antacid ¥
a1 1 1oy - e AR -
Teli-1 11 @x
Ayt wad FIET /gy )
a e O Lo wRwfwy O
b.  fFTEE L % fafe O
c. @i UL S S
d. R AR AV STy v
Choose the most appropriate answer from the options given below:
ra frg a1 Faredt & & wrarffres gage IaCg:
(A) a-1V,BflLc-11,d-1] (B) RRRULE \ A M,
€ a-r,bAAlLc-1v,d-11 (D) u~|||,b.|\,_c_|'d‘hJ .
(E)  Questioh™ot attempted / Siwfta 9 -del
144  Choose the ippropriate English translation of the given Sentence: ™
319 T mﬁl} . (- 4
mmecessarily sitting here. itho 5
fg)) ;3:1 ::egsnéﬁs. you'sithere, (D) For g ege O™ You should not it h

reas -
ns, you Are sitting here.

: + attempted
(E) Quesuonxnbia A ‘ :

A17]3
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Choose the mos
Iy nost appy, R
" anf kg Ppropriate English word for-

(A Adjudication

(C)  Decision (B)  Authorization

(E)  Question not attempted (D) Arbitration

" Choose the most appropriate st
(A)  Yours obediently
(€)  Your's obediently
(E)  Question not attempted

yle of writing the subscription for o formal letter: ¢
\ (B)  Yours' obediently
(D)  Your obediently

To protect mq s . :
147 p monuments, places and objects of artistic or historic interests, which are declared to be of national

importance is included under Constitution of India under- . ‘ ' ‘
(A)  Fundamental Rights

(C)  Directive Principles of State Policy
() . Question not attempted

I, TR iV et regait a e e 5 2l e w3 fer 3% v e o 2 e e 8 7

et iR 3 e o Rt et 2
(A) nfetrer it (B) i g:rﬁh‘n’
(©) T Fdves R (D)  itferer wder
()  3rgaf@ wx
148 Which of the following bank was sctup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural arcas?
(A) Central Bank of India .(B) SIDBI
(C) NABARD (D)  Reserve Bank of India
(E)  Question not attempted
R HTHR GRT AT Sermet i Sf dear o S F 3 ¥ 1982 i forer &, & fpm Ak degm 1 9
forar am? . o :

(B)  Judical Review
(D) + Fundamental Dutics K

(A)  Hger ¥ ofw 3 , ® R
() dmrE (SO Dy e feord
(E) guiawH ,
149  Karewas is .
(A) Thick deposit of glacial clay (B) A group of trackers
(C) A folk dance (D) Desert soil
(E)  Question not %attcmptcd ‘
FAaTH 1
(n) e fereh o o Y e () A S—
© THTHTI ' (D) Wl v
(E) e

150 Identify the statement which is NOT correct about the Northern Plains of India?

(A) Bhangar is an old alluvial soil deposit

: N . it

B s a new alluvial soil deposi o :

(C; ?:::::: narrow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope.
a S .

(D) Tarai is a belt consisting of old and new alluvial deposits,
(E)  Question not attempted

mﬁiﬁﬁm%sﬂﬁ@ﬁ“*m‘mﬂmwm&ﬁmaﬁﬁrgz-
(A) mmmmﬂﬁmm 5

O Y g e AR
©) mﬁwwmmaﬁmmmm

(E) &iﬂﬁa’ﬂﬂ' ) - .
Al ]@ e [ P.T.O.
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